201 6%8E KEARE ¥ —RBREZFHT 2 AFRER GBEEIZONT

20164E2H9H

[ 1A ]
R - R B - 2— B AR YR
Y= SERit]
£ w3 A 26 5 5.2
HERRTE FH R
SR H R
u % fm B H (& FHEM 55 23 2.4
HERRTE FH R
Y= SERit]
x£ ¥ X R % O & SPAEM 77 17 4.5
HERRTE FH R
SR H R
BN A G (e I A 3 7S = it 53 24 2.2
HERRTE FH R
4 Y= SERit]
i A AR B % #H 5 RAEM 93 25 3.7
2 HERRTE FH R
2 5%} F
7Y T 8 % H B FER 29 9 3.2
HERRTE FH R
Y= SERit]
[N A ack 88 31 2.8
HERRTE FH R
5FH R
£ Ft g sEtEA 395 129 3.1
HERRTE FH R
" | SRHEA
O L S i VL 186 41 4.5
HERRTE FH R
Y= SERit]
AHARXY A AKGEYHE AR 1 55 3.1
HERRTE FH R
Y= SERit]
Tk 3 R ¥ OH B EEM 205 61 3.4
% SRR A
F o | SRAM
H ;7”‘3‘?77”%@; SEHR 96 38 2.5
2 HERRTE FH R
ﬂ BR} F
KA Y0 R A Y sEFEE] 3REM 55 27 2.0
HERRTE FH R
SR H R
£ Ft g sEtEA 527 181 2.9
HERRTE FH R
XEFLH 1Y
R o = £ B e E A 914 440 2.1
PREE i)
Y= SERit]
e £ BHo osRE A 594 246 2.4
‘ BEEEIE I
3 5 E A
b £ BH o sRE A 173 63 2.7
HERRTE FH R




B

Y= SERit]

SFHRA

JERRTE Y

667

214

3.1

4

Y= SERit]

Ry= SERit]

JERRTE Y

704

179

3.9

M

-

S (B

1

7

SFHH A

Ry=ERit]

SR AL

124

28

4.4

fR Ak

1M

oF

i

N
Bt
e
4

P

5FHH A

Ry= SERit]

JERRTE Y

110

29

3.8

A

Y= SERit]

3FHH A

JERRTE Y

118

19

6.2

H
b

7

SR H R

Ry= SERit]

SR AL

317

62

5.1

&
i
i
Pl
u

5FH R

Ry=ERit]

SR

141

34

4.1

B H O B %

%

4 =

5FHH Y

Ry=ERit]

SR

3217

53

6.2

SFHA A

3FHH A

SR AL

163

35

4.4

=i
ES

o
]
=
s

Y= SERit]

3R H T [E

REREES - Gl

SR AL

M

210

3.5

% B P

¥

P

TR A

AFHHE R

SR AL

213

90

2.4

7

TRHH R

Y= SERit]

SR AL

209

79

2.6

g 3L ¥—F )T %

A

TRHH R

Y= SERit]

SR AL

162

80

2.0

e

4

A

TR E

Y= SERit]

JERRTE Y

198

120

1.7

e
%
&
i

& =

7

TR

SFHH A

SR AL

251

102

2.5

I A

P

TR A

SFHA A

SR AL

372

182

2.0

A M = fe %

7

TRHH R

SR H R

JERRTE Y

303

117

2.6

A

TRHH R

4R

SR AL

276

96

2.9

A H ¥ 2 7 &5 I

?

A

TR E

4R

JERRTE Y

2n

88

3.1

&t

8,472

2,922

2.9

[ 3R B AR o BERE A 7T ]




